o ,
T o W\.u 46057, noc | oM | twzi] toxe {3
D-G100%70-LI [/1-1 NOJOQV |_89| (8€00E “° 9315 WU = |—| 9315 D0WNY * mn
) mu| 09d| LBEOQE nevox 39| | oo - doorf doek asi- ono, asie, | E
— s eovesorepuiig TT .ﬁ_L,v;_ e va0 7 T wr N SASUS 0N, o w
TAFZ | v B B4 002 | 55,009 | JY00E van / g ann /
/a8 /  al s
" [ 2 1 . H M | m
@'ez 2N @z
_ 1HTY_T~S (8) 1 MNd (L)1 MmNy ASL- ASL*
603 244 — ———
T
3.0|H ? j » &)
91
12z 51 L{l ]
]
e LT
HH 458 A~
710 11 1
AS* - .
T ; | ,h
B
a & a 43y
“_1 122 §1 £l m e
1 B .y_
Au B m_z_.. ow
[ Lakgl
& ein AS* _r.lﬁ_ 1N AL
€L} “ N 4 ey [o}—2 s28
rs
] av
ASc L [ 43 _ ‘— — —wﬂ
kit
00SY% [4%al] ..m.\q.
1
80 lyvl E h L L0704,
9 Jx O . ¢ 2QT0H .
Yy )y O L—l
HIIN &= o AS -
v LNVIS 2 SLs
Can 8 RUH [o3— o
8510v3y O Z, 2 iy x 9
s
0y £ ooV
[§2:]
TTasi-
T
H ] [ P s
o | LA i H
nnulh 2%e S (W]l - ﬁ — 96 41
620
AS* L % m Dai .._
AS - o1 el
1 e O o=l L i
[1%:] e2d el 21 Sn |
8 \
6 Ol <y
0dx
o - 14
10 £ed| et
[44] ASI- 7y
to R _H_Sx z_un—‘. zﬂ £
_ 82 | o] o) e, o
. : B . ca ASI-
)m.Iﬂ %€ _ £y
> ne §1 o o
0z L.m
L A
’ Ag L
11 J A
" { 4 4 A L181
0
90 |
(4] oy




>

A T RE W $Te B e B T g -

UG =
n( l'“ ou.llm.-a““ .Hoﬂs oTTT_[.»i!c!Hm

(32 1)
tm

s IES

a[w§T TP 8o
“©+Q (OIN)
(3171 ) 9(m)
we @ o
e @ oozr
] Poi1xr
e Sl
0@ @ zoer
Yo @ @ L
W $o0s [ X3
10@ O@EIdNC
(LK J [ 1 {}
00 @ @ evir
imNe L oW
SV gpo PUVE
"we euvy
oNe ecver
(#1971 @ nver
PRI T 1320
N QY19

. o o
o o
o o
(4] o
o o
o o
[ o
o o
o o
o -]
o o
(] -]
o (-]
o o
- @ °
& e o
|
[ ] 17 ? 144
* oV
° e arL Vo1 et
o e e & D% Ouvos
o, w0 ¢
av e P Lo
[ J ot ¢ 20
]
5 71 ) (i
L) 9
(WY 109 v &) 1]
(onfv niPase 0o " * {0
NG o uv [ ]
e i 0 ) &
b oo
e T :ol._. L
4 o>
L X3
-
p > ,u
e — WY ON) LIV Gy RY D GVA
chIHI agé w“l‘tﬁ"‘;;_
age oISy 4
om@T WY rse NNNY e N Ot
19X ¢ov ﬁ AYONLLY | aiv 3 evias| ~
b 3] 4 ® v
L) i
“y N
vox
(11 @ 6x (1}
951 X} Vv SiY v 7Y OV @y Ity 2y
. di kg lap BT 2TU L,
' |
ov: 81 { [ 3]
v ol
Mo

> ~M A ¢ e O

To Tou
0 ** %°01
o (-1 4
o oy
o os
-] o9
) ot
o os
(4 o6
o o o\
o o
0% 00 U
o vo %00 ¢
010 o Y

[oo 100 $i
on
ofa O au
oy o
o [-X 1]
[ 3 ] o
o ou
o imwmonl
oy wou
ony won
ony @vo sl
ouy qvo %
oo .uRO 't}
X} A
o)y (yoe:
O3y fvoo¢
oy «
oy s
» °

o o

o o

o o

o o

o o

o o
\0 ono

o V33 O

O sge ageO

O]

o o

o o

o(m) ONP

ON) (N

O(Mm) (INO

olin) ONO

» ‘e

o

CPUSUALORDBAN /8 SSUALDN b ShamdO
‘B wpRmes my P hundn s




eN

ORTOFON 4020882

) (411
°

» 5 (¢ =
o 1013 .
et L 0
m =2 (¢}
3 3 @
3 <]
[ —
3 €3 s
o 1012 o 100 o 1M
P )
_—
]
)
I
| E
o R

) (411 1 (4] }
o L] [ ]

I

2.5V

158
EV

1
8

re
L))
Ly ]

6L
2D
| 15]

°aur

5
E— ﬁs E

-

—1 = s _IJ.N

a’mn-axn‘mnﬂa

IRININ

(]

"

A8 J

B8

B s
= et |*D.70 5

a .iw.:z:ﬁ

1C23

=

¢

- ey g pE. B S Gy gy puey sy



Side 1
STYKIL.ISTE
att:JL, JJK

Titel : ADCON 1 Nr.:I 704001510
udarb. dato: 16.07.1986
udarb. af : LM/GBS

Rev.

ILb.nr Stk vVarenr. Titel

c1 1 215103400 100 NF 10% 63V SIB
c2 1 235682500 6.8 UF 25V SAL
c3 1 215103400 100 NF 10% 63V SIB
ca 1 235682500 6.8 UF 25V SAL
cs 1 215103400 100 NF 10% 63V SIB
cé 1 215103400 100 NF 10% 63V SIB
7 1 235682500 6.8 UF 25V SAL
(of:} 1 215103400 100 NF 10% 63V SIB
c9 1 235682500 6.8 UF 25V SAL
clo 1 215103400 100 NF 10% 63V SIB
ci11 1 235682500 6.8 UF 25V SAL
c12 1 215103400 100 NF 10% 63V SIB
ci3 A 235682500 6.8 UF 25V SAL
cl4 1 215103400 100 NF 10% 63V SIB
Cc15 1 235682500 6.8 UF 25V SAL
Cc16 1 215103400 100 NF 10% 63V SIB
Cc17 1 235682500 6.8 UF 25V SAL
cis g 215103400 100 NF 10% 63V SIB
c19 1 215103400 100 NF 10% 63V SIB
c20 1 235682500 6.8 UF 25V SAL
c21 1 215103400 100 NF 10% 63V SIB
c22 1 235682500 6.8 UF 25V SAL
c23 1 215103400 100 NF 10% 63V SIB
c24 1 215103400 100 NF 10% 63V SIB
c25 1 235682500 6.8 UF 25V SAL
C26 1 215103400 100 NF 10% 63V SIB
c27 1 235682500 6.8 UF 25V SAL
c28 1 201105300 10 PF 2% CER
c29 1 213106100 1.0 NF 1% MPOCO
C30 1 235682500 6.8 UF 25V SAL
c31 1 215103400 100 NF 10% 63V SIB
c32 1 235682500 6.8 UF 25V Ssal
c33 1 215103400 100 NF 10% 63V SIB
C34 1 215103400 100 NF 10% 63V SIB
C35 1 215103400 100 NF 10% 63V SIB
c36 1 215103400 100 NF 10% 63V SIB
c37 1 215103400 100 NF 10% 63V SIB
c3s8 1 215103400 100 NF 10% 63V SIB
c39 1 215103400 100 NF 10% 63V SIB
c40 1 215103400 100 NF 10% 63V SIB
c41 1 215103400 100 NF 10% 63V SIB
c42 1 215103400 100 NF 10% 63C SIB
c43 1 215103400 100 NF 10% 63V SIB
c44 1 215103400 100 NF 10% 63V SIB
c45 1 215103400 100 NF 10% 63V SIB
c46 1 215103400 100 NF 10% 63V SIB
ca7 1 215103400 100 NF 10 % 63V SIB
cas 1 215103400 100 NF 10% 63V SIB
c49 il 215103400 100 NF 10% 63V SIB
CT1 1 202105300 100 PF 2% CER



Side 2
STYKLIGSTE
att:JL, JJK

Titel : ADCON 1 Nr.:I 704001510
Udarb. dato: 16.07.1986
Udarb. af : LM/GBS

Rev.

Lb.nr. Stk Varenr. Titel

CT2 1 202105300 100 PF 2% CER
CT3 1. 202105300 100 PF 2% CER
CT4 1 203103300 1 NF 10% CER
ICcx 1 360041100 LF 411

IC2 1 360041100 LF 411

IC3 1 380751200 AD 7512 DI AN-SWITCH
ic4 1 360041100 LF 411

IC5 1 360041100 LF 411

IC6 1 380751200 AD 7512 AN-SWITCH
IC7 1 390039800 LF 398 SAMP.HOLD

IC8 1 360007200 TL 072

1C9o 1 356057410 AD 574AKD A/D-12
IC10 1 304037430 SN 74LS374 N

IC11l 1 304037430 SN 74LS374 N

ICcl2 1 304000030 SN 74LS00

IC1l3 al 304022130 SN 741Ls221

I1Cl4 1 304022130 SN 74LS221

IC15 1 304024030 SN 74LS240

IC1l6 B 304024030 SN 74LS240

IC17 1 304024030 SN 74LS240

I1C18 1 304064030 SN 74LS640

IC19 1 304004230 SN 74LS42

1C20 1 304003230 SN 74LS32 N

JC21 1 304013330 SN 74LS133

1C22 1 343682100 MC 6821

IC23 1 343682100 MC 6821

I1C24 1 343682100 MC 6821

IC33 1 304000830 SN 74LS08

Jl 1 631664000 Stik 64P han V

J2 1 631632000 Stik 32P han

J3 al 631632000 Stik 32P han

J4 1 635013500 Molex st. 3P han V+L
J5S 1 635003510 Molex st. 3P han V+L
J6 1 635003510 Molex st. 3P han V+L
MEK3 1 746000000 Card handle w. pin
PCB1 1 704001500 Print Adcon

R1 1 105410000 10.0k ohm 0.25w 0.1%
R2 1 105410000 10.0k ohm 0.25w 0.1%
R3 1 103420000 20.0k ohm 0.25w 1%
R4 1 105410000 10.0k ohm 0.25w 0.1%
R5 1 140410000 10k trim. pot.20T.
R6 1 105410000 10.0k ohm 0.25w 0.1%
R7 1 105410000 10.0k ohm 0.25w 0.1%
R8 3 105410000 10.0k ohm 0.25w 0.1%
R9 1 103124900 24.9 ohm 0.25w 1%
R10 1 103124900 24.9 ohm 0.25w 1%
R11 1 103348700 4.87k ohm 0.33w 1%
R12 1 105410000 10.0k ohm 0.25w 0.1%
R13 1 105410000 10.0k ohm 0.25w 0.1%
R14 1 103242000 20.0k ohm 0.25w 1%



Side 3
S T.¥ KiL'T. &8 T-E
att:JL, JJK

Titel : ADCON 1
Udarb. dato: 16.07.1986
Udarb. af : LM/GBS

Nr.:I 704001510

Rev.

Ib.nr Stk Varenr Titel

R15 1 105410000 10.0k ohm 0.25w 0.1%
R16 1 140410000 10k trim. pot. 20 t.
R17 1 105410000 10.0k ohm 0.25w 0.1%
R18 1 105410000 10.0k ohm 0.25w 0.1%
R19 1 105410000 10.0k ohm 0.25w 0.1%
R20 1 103124900 24.9 ohm 0.25w 1%
R21 1 103124900 24.9 ohm 0.25w 1%
R22 1 103348700 4.87k ohm 0.25w 1%
R23 1 103124900 24.9 ohm 0.25w 1%
R24 1 103124900 24.9 ohm 0.25w 1%
R25 1 103124900 24.9 ohm 0.25w 1%
R26 1 103124900 24.9 ohm 0.25w 1%
R27 1 103415000 15.0k ohm 0.25w 1%
R28 1 140210000 100 trim. pot. 20t.
R29 it 103349900 4.99k ohm 0.25w 1%
R30 1 103337400 3.74k ohm 0.25w 1%
R31 ol 103124900 24.9 ohm 0.25w 1%
R32 1 103124900 24.9 ohm 0.25w 1%
R33 1 103124300 24.9 ohm 0.25w 1%
R34 1 103124900 24.9 ohm 0.25w 1%
R35 1 140410000 10k trim. pot. 20t.
R36 34 140220000 200 trim. pot. 20t.
R37 1 103124900 24.9 ohm 0.25w 1%
R38 1 103124900 24.9 ohm 0.25w 1%
R39 i 103149900 49.9 ohm 0.25w.1%
R40 1 103210000 100 ohm 0.25w 1%
R41 1 103510000 100k ohm 0.25w 1%
R42 1 140510000 100k trim. pot. 20t.
RNW1 1 186333018 8x3.3k ohm 0.1lw 10%
RT1 1 103330100 3.01k ohm 0.25w 1%
RT2 1 103412100 12.1k ohm 0.25w 1%
RT3 13 103330100 3.01k ohm 0.25w 1%
RT4 1 103415000 15.0k ohm 0.25w 1%
SM1 1 810002500 Mgtrik M2.5

SM2 1 810002500 Mptrik M2.5

SM3 1 810002500 Mptrik M2.5

SM4 1 810002500 Mptrik M2.5

SM5 1 810002500 Mgtrik M2.5

SM6 1 810002500 Mptrik M2.5

S03 1 640140100 IC-sokkel 14P

S06 ak 640140100 IC-sokkel 14P

S09 1 640280100 IC-sokkel 28P

S015 1 640200100 IC-sokkel 20P

SOle6 1 640200100 IC-sokkel 20P

S017 1 640200100 IC-sokkel 20P

S018 1 640200100 IC-sokkel 20P

Srl 1 815003010 Pertinaxsk ¢3.206x0.5
SP2 1 815003010 Pertinaxsk ¢3.206x0.5
SP3 1 815003010 Pertinaxsk ¢3.206x0.5
SP4 1 815003010 Pertinaxsk ¢3.206x0.5



Side 4
STYKLISTE
att:JL, JJK

Titel : ADCON 1
Udarb. dato: 16.07.1986
Udarb. af : LM/GBS

Nr.:I 704001510

Rev.

Lb.nr Stk. Varenr Titel

SP5 1 815003010 Pertinaxsk ¢3.206x0.5
SP6 1 815003010 Pertinaxsk 3.206x0.5
SSK1 1 804251200 Skrue M2.5x12 PHJX-2Z
SSk2 1 804251200 Skrue M2.5x12 PHJX-2
SSK3 1 804251200 Skrue M2.5x12 PHJX-2
SSK4 1 804251200 Skrue M2.5x12 PHJX-Z
SSK5S 1 804251200 Skrue M2.5x12 PHJX-2
SSK6 1 804251200 Skrue M2.5x12 PHJX-2
Sss1 1 812002500 Stjerneskive 2.5mm
SSSs2 1 812002500 Stjerneskive 2.5mm
SSS3 1 812002500 Stjerneskive 2.5mm
SSs4 1 812002500 Stjerneskive 2.5mm
SSS5 1 812002500 Stjerneskive 2.5mm
SSS6 1 812002500 Stjerneskive 2.5mm
TP1 1 831001000 Printspyd 1.0mm

TP2 1 831010000 Printspyd 1.0mm

TE3 1 831001000 Printspyd 1.O0mm

TP4 1 831001000 Printspyd 1.0mm

TP5 1 831001000 Printspyd 1.0mm

TP6 1 831001000 Printspyd 1.0mm

TP7 i 831001000 Printspyd 1.0mm

TP8 1 831001000 Printspud 1.0Omm

TP9 1 831001000 Printspyd 1.0mm

TP10 1 831001000 Printspyd 1.0mm



